Ge/vo/vt panaaue) unasiy
m sz/e0/0T [Slal<|ZS<|<|<|Z|a|a|<|<|a|[Z|a
mn.,amm\mo\SmPAmPPWAPAPAPmA
_._WLW,WmN\Ho\ONWAAWWWPPAPPPPWA

@ 5 E| vercueo panadued Sunsai
.mmmvm\g:PPAAPPAAPPAPPWA
M».:NU,HU,#N\OH\#HWWWPAPWPPPPAPWP
.WLR#N\mo\@HmAAAPAPAPPPAPmP
Wna v2iLo/sT | Sl < <|<]|a|a]l<|<]|a|a]a|a]|a|[Z|<
v2/90/0T |Sla|l<|<|<|al|a|Z|a|ala]|a|a|[Z]|a
sevo/se |<lalala|Sl<|a|Slala|S<|a|<|<
mmm\mo\hﬁAPAAmAPWPPWAPPA
gm, gereove |alalala|lSlala|Z|alafalala|<|<
...MM, 6z/10/L2 |alalala|S|lala|Z|alalalala]|<|<
mw veretor | <|<|a|<|(Ela|a|Z|a|a|Z|a|a|a]|<
MM, v2itr/et |a|<|a|la|Slala|(Slala|S(<|a|<|a
S8 [ veorne [<fa|<|<|Zla|a|E|<|a|Z|<|a]|<|<
F@.H v2160/0¢ |a|alala|Slala|(S|ala|S|(<|a|a]a
mwm\ho\mNPPPAWPPWPPWPPPA
qu\mo\DPPAAmemADNnDNnAPPP
Ge/v0/8C |<|a|ajaja|<|a|<|a|ja|fa|(<|a|<|<
6z/e0/LT |<|a|<|<|Z|<|a|Z|ala|<|<|a|a]|<
Gzreome |alalalalala|a|(F|alalala|a|<|<
GZ/10/0C |a|alalala|<|a|Z|alalala|a|<|<
M ve/et/9l | <|ala|l<|<|a|la|<|a|a|la|la|a]|a]<
m vz1st |afl<|ala|<|a]|a|<|a|a|a|<|a|<]|a
2 | vouie [<[a[<[<[a]ala]<]<[a]a]<]a]<]<
7¢/60/0€ |a|lala|jalajalala|la|la|la|<<|(a|la|a
72/80/6T |a|<|<|<|a|a|a|a|la|fa|<|(a|la|<]|a
vc/L0/6C |a|a|la|g|<|a|a|<|a|a|<|a]|la|a]<
V2/90/LT |a|a|<|<|a|a|<|<|(<|<|<|<|a|a]|a
MW 7¢/G0/0C |a|aja|jalajalala|la|la|la|lafa|a|a

=
5 = 2l E

%Wmmwwmmmwmmmmm
AHEEEEHHEREEEEEE
HEHEEEHEEEBHEEEE
HHEHEEHEEEEHEEE

A Absent NR Not Required

PV Present Virtually*

P Present

Key:

*does not count as attended



